
Nx

Ny

Ny

NyNx

Ncath

Ncath

Term

Term2

Z=1800

Num=2

R

R30

R=1800 Ohm

VtSine

SRC2

Phase=0

Damping=0

Delay=0 nsec

Freq=1 kHz

Amplitude=1.05 V

Vdc=0 V

R

R28

R=10 kOhm

R

R29

R=33 kOhm

C

C13

C=Ccoup1

C

C12

C=Ccoup1

R

R16

R=0.945*Rpara1

R

R17

R=Rpara1

R

R18

R=Rcathode2

triodeECC88

X5

C

G

A

R

R19

R=100 Ohm

triodeECC88

X6

C

G

A

R

R20

R=100 Ohm

R

R21

R=Rcathode2

C

C8

C=Ccathode2

R

R22

R=1 MOhm

triodeECC88

X8

C

G

A

R

R23

R=Rcathode2

R

R24

R=Rcathode2

R

R25

R=1 MOhm

C

C9

C=Ccathode2

R

R26

R=100 Ohm

R

R27

R=100 Ohm
triodeECC88

X7

C

G

A

C

C10

C=470 nF

C

C11

C=470 nF

Term

Term1

Z=50 mOhm

Num=1
triodeECC81

X3

C

G

A

triodeECC81

X4

C

G

A

triodeECC81

X1

C

G

A

triodeECC81

X2

C

G

A

C

C5

C=Cfb

C

C4

C=Ccathode

C

C3

C=Ccathode

C

C1

C=Cbot

C

C2

C=Ctop

V_DC

SRC1

Vdc=Vsupply

R

R15

R=Rk2

R

R14

R=Rk1

R

R13

R=1 MOhm

R

R12

R=1 MOhm

R

R11

R=Rcathode/2

R

R10

R=Rc

R

R5

R=Rc

R

R8

R=Rcathode

R

R6

R=100 Ohm

R

R9

R=Rcathode

R

R7

R=100 Ohm

R

R4

R=Rcathode

R

R1

R=Rcathode

R

R2

R=100 Ohm

R

R3

R=100 Ohm


